37t | 42714
AF2k(17H/300~350q) 3,646 3,399 247 7.27%
H{(17H/650~700g) 5,241 3,759 1,482 39.43%
2(170/1kg) 1,561 1,505 56 3.72%
H 35 (1 7| /3kg) 3,268 2,873 395 13.75%
CHIt(1FS/1kg/QH7HA) 4,296 4,068 228 5.60%
20[(37H) 4,235 3,521 714 20.28%
E} K| 07| (=4t/4E A /600g) 14,882| 14,982 100 -0.67%
EEAAD St 7|(10t2]/1kg) 7,901 8,185 284 -3.47%
(16E=) 2| 2 7|(=m /= HE|¥X| /1S 5/6009) 36,769 35,264 1,505 4.27%
27| (=4t/&4/6009) 70,536| 72,828 2,292 -3.15%
21 E/THEH/307H) 7,633 7,424 209 2.82%
Z7|(10t2|/=4t/15cm) 1,998 1,485 513 34.55%
ZX|(10F2| /= 4F/80cm) 5,661 7,398 1,737 | -23.48%
nS0{(10k2|/=4t/30cm) 3,739 3,981 242 -6.08%
FHE{(10F2|/2{ A OFAt/40cm) 4,592 4,537 55 1.21%
LA 0{(10r2]/3H-5/30cm) 5,843 5,450 393 7.21%
A (20kg) 62,800 62,760 40 0.06%
He| (= 4/1kg) 3,364 3,578 214 -5.98%
L IH(1kg) 2,399 2,509 110 -4.38%
7HObE (1kg) 9,986 10,266 280 -2.73%
U2 (B EHE/1kg) 2,108 2,117 9 -043%
F(12/300g/5UL/SEHE) 1,496 1,396 100 7.16%
MOE M%%m.sua?l%) 8,011 8,392 381 -4.54%
e Z 7R (1kg/= L4 30,583| 29,075 1,508 5.19%
IJ1| FZ(1kg/=L{Lh 9,863 9,847 16 0.16%
ZRH1kg/=r L 4h) 3,881 3,531 350 9.91%
SLt=(128/5009) 2,499 2,459 40 1.63%
IR 1,562] 1,621 59 -3.64%
AL 1,481 1,566 85 -543%
S8 1,359 1,394 35 -2.51%
o 2319 360me/A01H) 1,892 1,549 343 22.14%
B 7= (15 500me/A 01 ) 2,166] 1,769 397 | 22.44%




